ITERATIVE APPROXIMATIONS OF FIXED POINTS FOR ASYMPTOTICALLY NONEXPANSIVE MAPPINGS IN BANACH SPACES

S. S. CHANG, J. Y. PARK AND Y. J. CHO

ABSTRACT. The purpose of this paper is to study the iterative approximations of fixed points for asymptotically pseudo-contractive mappings and asymptotically nonexpansive mappings in Banach spaces. The results presented in this paper extend and improve the main results in Geobel-Kirk [4], Liu [5] and Schu [7].

1. Introduction and Preliminaries

Throughout this paper, we assume that E is a real Banach space, E^* is the topological dual space of E, $\langle \cdot, \cdot \rangle$ denotes the dual pair between E and E^* and $J: E \to 2^{E^*}$ is the normalized duality mapping defined by

$$J(x) = \{ f \in E^* : \langle x, f \rangle = ||x|| ||f||, ||x|| = ||f|| \}$$

for all $x \in E$.

DEFINITION 1.1. Let D be a nonempty subset of E and $T:D\to D$ be a mapping.

(1) T is said to be asymptotically nonexpansive if there exists a sequence $\{k_n\}$ in $[1, \infty)$ with $\lim_{n\to\infty} k_n = 1$ such that

$$||T^n x - T^n y|| \le k_n ||x - y||$$

Received December 11, 1998.

1991 Mathematics Subject Classification: 47H05, 47H10, 47H15.

Key words and phrases: asymptotically nonexpansive mapping, asymptotically pseudo-contractive mapping, modified Ishikawa iterative sequence, modified Mann iterative sequence, fixed point.

The first author is partially supported by National Natural Science Foundation of China, the Fellowship Grant of the Korea Science and Engineering Foundation, and the third author wishes to acknowledge the financial support of the Korea Research Foundation made in the program year of 1998, Project No. 1998-015-000020.

for all $x, y \in D$ and $n = 1, 2, \cdots$.

(2) T is said to be uniformly L-Lipschitzian with the constant $L \ge 1$ if

$$||T^n x - T^n y|| \le L||x - y||$$

for all $x, y \in D$ and $n = 1, 2, \cdots$.

(3) T is said to be asymptotically pseudo-contractive if there exists a sequence $\{k_n\}$ in $[1,\infty)$ with $\lim_{n\to\infty} k_n = 1$ and, for any $x,y\in D$, $j(x-y)\in J(x-y)$ such that

$$\langle T^n x - T^n y, j(x - y) \rangle \le k_n ||x - y||^2$$

for all $n = 1, 2, \cdots$.

REMARK 1.1. (1) If T is a nonexpansive mapping, then T is an asymptotically nonexpansive mapping with a constant sequence $\{k_n\}$ defined by $k_n = 1$ for all $n = 1, 2, \cdots$.

- (2) If T is an asymptotically nonexpansive mapping with a sequence $\{k_n\}$ in $[1, \infty)$ and $\lim_{n\to\infty} k_n = 1$, then T is a uniformly L-Lipschitzian mapping with the constant $L = \sup_{n>1} k_n < \infty$.
- (3) If T is an asymptotically nonexpansive mapping, then T is an asymptotically pseudo-contractive mapping. But the converse is not true in general.

This can be seen from the following example:

Example 1.1. ([6]) Let $E=R,\ D=[0,1]$ and the mapping $T:D\to D$ is defined by

$$Tx = (1 - x^{\frac{2}{3}})^{\frac{3}{2}}$$

for all $x \in D$. We can prove that T is not Lipschitzian and so it is not asymptotically nonexpansive. Since $T \circ T = I$ and it is monotonically decreasing, it follows that

$$(x-y)(T^nx-T^ny) = \begin{cases} |x-y|^2, & \text{if } n \text{ is even,} \\ (x-y)(Tx-Ty) \le 0 \le |x-y|^2, & \text{if } n \text{ is odd.} \end{cases}$$

This implies that T is an asymptotically pseudo-contractive mapping with the constant sequence $\{1\}$.

DEFINITION 1.2. Let D be a nonempty convex subset of $E, T : D \to D$ be a mapping, $\{\alpha_n\}$ and $\{\beta_n\}$ be two sequences in [0,1].

(1) The sequence $\{x_n\}$ defined by

(1.1)
$$\begin{cases} x_0 \in D, \\ x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T^n y_n, \\ y_n = (1 - \beta_n)x_n + \beta_n T^n x_n \end{cases}$$

for all $n=0,1,2,\cdots$ is called the *modified Ishikawa iterative sequence*. (2) Taking $\beta_n=0$ for all $n=0,1,2,\cdots$ in (1.1), the sequence $\{x_n\}$ defined by

(1.2)
$$\begin{cases} x_0 \in D, \\ x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T^n x_n \end{cases}$$

for all $n = 0, 1, 2, \cdots$ is called the modified Mann iterative sequence.

The concept of an asymptotically nonexpansive mapping was introduced by Goebel-Kirk [4] in 1972, which was closely related to the theory of fixed points of mappings in Banach spaces. An early fundamental result due to Browder [1] states that, if E is a uniformly convex Banach space, D is a nonempty bounded closed convex subset of E and $T:D\to D$ is an asymptotically nonexpansive mapping, then T has a fixed point in D.

On the other hand, the concept of an asymptotically pseudo-contractive mapping was introduced by Schu [7] in 1991.

The iterative approximation problems for asymptotically nonexpansive mappings and asymptotically pseudo-contractive mappings were studied extensively by Goebel-Kirk [4], Liu [5] and Schu [7] in Hilbert spaces and uniformly convex Banach spaces, respectively. The purpose of this paper is, by using a new iterative technique, to study the iterative approximative problem of fixed points for asymptotically nonexpansive mappings and asymptotically pseudo-contractive mappings in the setting of Banach spaces. The results represented in this paper extend and improve the main results in [4]-[5], [7] and the proof methods given in this paper is quite different from the methods given in [4]-[5], [7].

We first recall the following results for our main results:

LEMMA 1.1 ([2], [3]). Let E be a real Banach space. Then, for any $x, y \in E$,

$$||x+y||^2 \le ||x||^2 + 2\langle y, j(x+y)\rangle$$

for all $j(x+y) \in J(x+y)$, where $J: E \to 2^{E^*}$ is the normalized duality mapping.

LEMMA 1.2 ([8]). Let $\{a_n\}$ and $\{b_n\}$ be two nonnegative real sequences. If there exists a positive integer n_0 such that

$$a_{n+1} \le (1 - t_n)a_n + b_n$$

for all $n \geq n_0$, where $0 \leq t_n < 1$, $\sum_{n=0}^{\infty} t_n = \infty$ and $b_n = o(t_n)$. Then $\lim_{n\to\infty}a_n=0.$

2. Main Results

In this section, we give some iterative approximation theorems of fixed points for asymptotically pseudo-contraction mappings and asymptotically nonexpansive mappings. Let F(T) denote the set of all fixed points of T.

Theorem 2.1. Let D be a nonempty closed convex subset of E, $T:D\to D$ be a uniformly L-Lipschitzian asymptotically pseudocontractive mapping with a real sequence $\{k_n\}$ in $[1,\infty)$ such that $\lim_{n\to\infty} k_n = 1$ and the constant $L \geq 1$. Let $\{\alpha_n\}$ and $\{\beta_n\}$ be two sequences in [0,1] satisfying the following conditions:

- (i) $\alpha_n \to 0$, $\beta_n \to 0$ $(n \to \infty)$, (ii) $\sum_{n=0}^{\infty} \alpha_n = \infty$.

Let $\{x_n\}$ be the modified Ishikawa iterative sequence defined by (1.1). If $F(T) \neq \emptyset$, T(D) is bounded and, for any given $q \in F(T)$, there exists a strictly increasing function $\phi:[0,\infty)\to[0,\infty)$ and $\phi(0)=0$ such that

(2.1)
$$\langle T^n x_{n+1} - q, j(x_{n+1} - q) \rangle \leq k_n ||x_{n+1} - q||^2 - \phi(||x_{n+1} - q||)$$

for all $n = 0, 1, 2, \dots$, where $j(x_{n+1} - q) \in J(x_{n+1} - q)$ is such that $\langle T^n x_{n+1} - T^n q, j(x_{n+1} - q) \rangle \leq k_n ||x_{n+1} - q||^2$

for all $n = 0, 1, 2, \dots$, then the sequence $\{x_n\}$ converges strongly to the fixed point q of T.

Iterative approximations of fixed points

Proof. It follows from Lemma 1.1 and (1.1) that

$$||x_{n+1} - q||^{2}$$

$$= ||(1 - \alpha_{n})(x_{n} - q) + \alpha_{n}(T^{n}y_{n} - q)||^{2}$$

$$(2.2) \qquad \leq (1 - \alpha_{n})^{2}||x_{n} - q||^{2} + 2\alpha_{n}\langle T^{n}y_{n} - q, j(x_{n+1} - q)\rangle$$

$$\leq (1 - \alpha_{n})^{2}||x_{n} - q||^{2} + 2\alpha_{n}\langle T^{n}y_{n} - T^{n}x_{n+1}, j(x_{n+1} - q)\rangle$$

$$+ 2\alpha_{n}\langle T^{n}x_{n+1} - q, j(x_{n+1} - q)\rangle.$$

Now, we consider the third term on the right side of (2.2). By (2.1), we have

(2.3)
$$2\alpha_{n}\langle T^{n}x_{n+1} - q, j(x_{n+1} - q)\rangle$$

$$\leq 2\alpha_{n}[k_{n}||x_{n+1} - q||^{2} - \phi(||x_{n+1} - q||)]$$

Next, we consider the second term on the right side of (2.2). Since T is uniformly L-Lipschitzian, we have

(2.4)
$$2\alpha_{n}\langle T^{n}y_{n} - T^{n}x_{n+1}, j(x_{n+1} - q)\rangle$$

$$\leq 2\alpha_{n}L||y_{n} - x_{n+1}||||x_{n+1} - q||.$$

On the other hand, we have

$$||y_{n} - x_{n+1}||$$

$$= ||(1 - \alpha_{n})(x_{n} - y_{n}) + \alpha_{n}(T^{n}y_{n} - y_{n})||$$

$$\leq (1 - \alpha_{n})\beta_{n}||T^{n}x_{n} - x_{n}|| + \alpha_{n}||T^{n}y_{n} - q + q - y_{n}||$$

$$\leq (1 - \alpha_{n})\beta_{n}||T^{n}x_{n} - q + q - x_{n}|| + \alpha_{n}(1 + L)||y_{n} - q||$$

$$\leq (1 - \alpha_{n})\beta_{n}(1 + L)||x_{n} - q||$$

$$+ \alpha_{n}(1 + L)||(1 - \beta_{n})(x_{n} - q) + \beta_{n}(T^{n}x_{n} - q)||$$

$$\leq (1 - \alpha_{n})\beta_{n}(1 + L)||x_{n} - q|| + \alpha_{n}(1 + L)L||x_{n} - q||$$

$$= d_{n}||x_{n} - q||,$$

where $d_n = (1 - \alpha_n)\beta_n(1 + L) + \alpha_n(1 + L)L$ and $d_n \to 0$ as $n \to \infty$ since α_n , $\beta_n \to 0$ as $n \to \infty$. Thus, substituting (2.3)~(2.5) into (2.2)

and simplifying, we have

$$||x_{n+1} - q||^{2}$$

$$\leq (1 - \alpha_{n})^{2} ||x_{n} - q||^{2} + 2\alpha_{n} L d_{n} ||x_{n} - q|| ||x_{n+1} - q||$$

$$+ 2\alpha_{n} k_{n} ||x_{n+1} - q||^{2} - 2\alpha_{n} \phi (||x_{n+1} - q||).$$

Since $2||x_n - q|| ||x_{n+1} - q|| \le ||x_n - q||^2 + ||x_{n+1} - q||^2$, it follows from (2.6) that

(2.7)
$$||x_{n+1} - q||^2 \le \frac{(1 - \alpha_n)^2 + \alpha_n L d_n}{1 - 2\alpha_n k_n - \alpha_n L d_n} ||x_n - q||^2 - \frac{(2\alpha_n)^2 + \alpha_n L d_n}{1 - 2\alpha_n k_n - \alpha_n L d_n} \phi(||x_{n+1} - q||).$$

Since $\alpha_n \to 0$, $\beta_n \to 0$ and $k_n \to 1$ as $n \to \infty$, there exists a positive integer n_0 such that $1 - 2\alpha_n k_n - \alpha_n L d_n > 0$ for all $n \ge n_0$. Hence, without loss of generality, we can assume that

$$1 - 2\alpha_n k_n - \alpha_n L d_n > 0$$

for all $n \ge 0$. Besides, if there exists a nonnegative integer m such that $x_m = q$, then we have

$$y_m = (1 - \beta_m)x_m + \beta_m T^m x_m = q.$$

By induction, we can prove that $x_{m+i} = y_{m+i} = q$ for all $i \geq 0$ and so $x_n \to q$ as $n \to \infty$. The conclusion of Theorem 2.1 is proved. Hence, without loss of generality, we can assume that $x_n \neq q$ for all $n \geq 0$. Let

$$\sigma = \inf_{n \ge 0} \frac{\phi(\|x_{n+1} - q\|)}{\|x_{n+1} - q\|^2}.$$

1. If $\sigma > 0$. Taking $\gamma \in (0, \min\{1, \sigma\})$, it follows from (2.7) that

$$||x_{n+1} - q||^{2} \leq \frac{(1 - \alpha_{n})^{2} + \alpha_{n}Ld_{n}}{1 - 2\alpha_{n}k_{n} - \alpha_{n}Ld_{n}}||x_{n} - q||^{2}$$
$$- \frac{2\alpha_{n}\gamma}{1 - 2\alpha_{n}k_{n} - \alpha_{n}Ld_{n}}||x_{n+1} - q||^{2},$$

Iterative approximations of fixed points

which implies that

$$(2.8) ||x_{n+1} - q||^2 \le \frac{(1 - \alpha_n)^2 + \alpha_n L d_n}{1 - 2\alpha_n k_n - \alpha_n L d_n + 2\alpha_n \gamma} ||x_n - q||^2.$$

Since $\alpha_n \to 0$, $d_n \to 0$ and $k_n \to 1$ as $n \to \infty$, there exists a positive integer n_1 such that, for all $n \ge n_1$,

$$(1-\alpha_n)^2 + \alpha_n L d_n - (1 - \frac{\gamma}{2}\alpha_n)(1 - 2\alpha_n k_n - \alpha_n L d_n + 2\alpha_n L)$$

$$= \alpha_n \left[2(k_n - 1) + \alpha_n + 2L d_n - \alpha_n k_n L - \frac{\gamma}{2}\alpha_n L d_n + \alpha_n \gamma^2 - \frac{3}{2}\gamma \right]$$

$$\leq 0.$$

This implies that

$$\frac{(1-\alpha_n)^2 + \alpha_n L d_n}{1 - 2\alpha_n k_n - \alpha_n L d_n + 2\alpha_n \gamma} \le (1 - \frac{\gamma}{2} \alpha_n)$$

for all $n \ge n_1$. Therefore, (2.8) can be written as follows:

$$||x_{n+1} - q||^2 \le (1 - \frac{\gamma}{2}\alpha_n)||x_n - q||^2$$

for all $n \ge n_1$. Taking $a_n = ||x_n - q||^2$, $b_n = 0$, $t_n = \frac{\gamma}{2}\alpha_n$, it follows from Lemma 1.2 that $a_n \to 0$, i.e., $x_n \to q$ as $n \to \infty$.

2. If $\sigma = 0$. By the strictly increasing property of ϕ and the definition of σ , there exists a subsequence $\{x_{n_j+1}\}$ of $\{x_n\}$ such that $\|x_{n_j+1} - q\| \to 0$ as $j \to \infty$. In fact, since $\delta = 0$, there exists a subsequence $\{x_{n_j+1}\}$ of $\{x_n\}$ such that

$$\frac{\phi(\|x_{n_j+1}-q\|)}{\|x_{n_j+1}-q\|^2}\to 0$$

as $n_j \to \infty$. Letting $M = \sup\{||y|| : y \in T(D)\}$. For any $\epsilon > 0$, there exists a positive integer n_{j_0} such that

$$\frac{\phi(\|x_{n_j+1} - q\|)}{\|x_{n_j+1} - q\|^2} \le \frac{\phi^{-1}(\epsilon)}{M}$$

S. S. Chang, J. Y. Park and Y. J. Cho

for $n_j \geq n_{j_0}$, and so $\phi(\|x_{n_j+1}-q\|) \leq \phi^{-1}(\epsilon)$, i.e., $\{x_{n_j+1}-q\| \leq \epsilon \text{ for } n_j \geq n_{j_0}$. Since ϵ is arbitrary, we have

$$||x_{n_j+1}-q|| \to 0$$
 as $n_j \to \infty$.

Since $\alpha_n \to 0$, $k_n \to 1$ and $d_n \to 0$ as $n \to \infty$, for any given $\epsilon \in (0,1)$, there exists a positive integer n_{j_0} such that, for all $n \ge n_{j_0}$,

(2.9)
$$\begin{cases} \|x_{n_{j_0}+1} - q\| < \epsilon, \\ \alpha_n < \frac{1}{4}\phi(\epsilon), \ Ld_n < \frac{1}{4}\phi(\epsilon), \\ k_n < 1 + \frac{1}{4}\phi(\epsilon). \end{cases}$$

Next, we prove that

$$||x_{n_{j_0}+i}-q|| \le \epsilon$$

for all $i \geq 1$. Indeed, for i = 1, the conclusion follows from (2.9). For i = 2, if

$$||x_{n_{i_0}+2} - q|| > \epsilon,$$

then, by the strictly increasing property of ϕ , we have

$$\phi(\|x_{n_{j_0}+2}-q\|)>\phi(\epsilon).$$

Letting

$$h_n = \frac{1}{1 - 2\alpha_n k_n - \alpha_n L d_n}.$$

Then the first term on the right side of (2.7) can be written as follows:

$$\frac{(1-\alpha_n)^2 + \alpha_n L d_n}{1 - 2\alpha_n k_n - \alpha_n L d_n} ||x_n - q||^2$$

$$= ||x_n - q||^2 + h_n \alpha_n (\alpha_n - 2 + 2L d_n + 2k_n) ||x_n - q||^2.$$

It follows from (2.7) and (2.9), we have

$$\begin{split} \|x_{n_{j_0}+2} - q\|^2 \\ & \leq \|x_{n_{j_0}+1} - q\|^2 + h_{n_{j_0}+1}\alpha_{n_{j_0}+1}[(\alpha_{n_{j_0}+1} - 2 + 2Ld_{n_{j_0}+1} \\ & + 2k_{n_{j_0}+1})\|x_{n_{j_0}+1} - q\|^2 - 2\phi(\epsilon)] \\ & \leq \epsilon^2 + h_{n_{j_0}+1}\alpha_{n_{j_0}+1}\Big[\frac{\phi(\epsilon)}{4} - 2 + \frac{\phi(\epsilon)}{2} + 2\Big(1 + \frac{1}{4}\phi(\epsilon)\Big)\epsilon^2 - 2\phi(\epsilon)\Big] \\ & \leq \epsilon^2 + h_{n_{j_0}+1}\alpha_{n_{j_0}+1}\Big[\frac{5}{4}\phi(\epsilon) - 2\phi(\epsilon)\Big] \\ & \leq \epsilon^2, \end{split}$$

which contradicts (2.11) and so we have

$$||x_{n_{j_0}+2}-q||^2 \le \epsilon.$$

By induction, we can prove that (2.10) is true. By the arbitrariness of $\epsilon \in (0,1)$, we have $x_n \to q$ as $n \to \infty$. This completes the proof.

From Theorem 2.1, we can obtain the following result:

THEOREM 2.2. Let D be a nonempty closed convex subset of E and $T:D\to D$ be an asymptotically nonexpansive mapping with a sequence $\{k_n\}$ in $[1,\infty)$ such that $\lim_{n\to\infty}k_n=1$. Let $\{\alpha_n\}$ and $\{\beta_n\}$ be two sequences in [0,1] satisfying the conditions (i) and (ii) in Theorem 2.1. Let $\{x_n\}$ be the modified Ishikawa iterative sequence defined by (1.1). If $F(T)\neq\emptyset$ and, for any given $q\in F(T)$, there exists a strictly increasing function $\phi:[0,\infty)\to[0,\infty)$ and $\phi(0)=0$ such that the condition (2.1) in Theorem 2.1 is satisfied. Then the sequence $\{x_n\}$ converges strongly to the fixed point q of T.

Proof. Since T is an asymptotically nonexpansive mapping with a sequence $\{k_n\}$ in $[1,\infty)$ and $\lim_{n\to\infty}k_n=1$, T is a uniformly L-Lipschitzian asymptotically pseudo-contractive mapping with the sequence $\{k_n\}$ in $[1,\infty)$, $\lim_{n\to\infty}k_n=1$ and the constant $L=\sup_{n\geq 1}k_n$. Therefore, the conclusion can be obtained from Theorem 2.1 immediately.

THEOREM 2.3. Let D be a nonempty closed convex subset of E and $T: D \to D$ be a uniformly L-Lipschitzian asymptotically pseudocontractive mapping with a sequence $\{k_n\}$ in $[1,\infty)$ such that

$$\lim_{n\to\infty}k_n=1.$$

Let $\{\alpha_n\}$ be a sequence in [0,1] satisfying the following conditions:

- (i) $\alpha_n \to 0$ as $n \to \infty$, (ii) $\sum_{n=0}^{\infty} \alpha_n = \infty$.

Let $\{x_n\}$ be the modified Mann iterative sequence defined by (1.2). If $F(T) \neq \emptyset$ and, for any given $q \in F(T)$, there exists a strictly increasing function $\phi:[0,\infty)\to[0,\infty)$ and $\phi(0)=0$ such that the condition (2.1) in Theorem 2.1 is satisfied. Then the sequence $\{x_n\}$ converges strongly to the fixed point q of T.

Proof. Taking $\beta_n = 0$ for all $n = 0, 1, 2, \cdots$ in Theorem 2.1, the conclusion can be obtained immediately.

REMARK 2.1. Theorems 2.1, 2.2 and 2.3 extend and improve the main results in Goebel-Kirk [4], Liu [5] and Schu [7]. Moreover, the methods of proof given in this paper are more simple and quite different from the proof methods given in [4]-[6].

References

- [1] F. E. Browder, Nonexpansive nonlinear operators in Banach spaces, Proc. Natl. Acad. Sci. USA 54 (1976), 1041-1044.
- [2] S. S. Chang, Some problems and results in the study of nonlinear analysis, Nonlinear Anal. TMA 30 (1997), no. 7, 4197-4208.
- [3] S. S. Chang, Y. J. Cho, J. S. Jung and S. M. Kang, Iterative approximations of fixed points and solutions for strongly accretive and strongly pseudo-contractive mappings in Banach spaces, J. Math. Anal. Appl. 224 (1998), 149-165.
- [4] K. Goebel and W. A. Kirk, A fixed point theorem for asymptotically nonexpansive mappings, Proc. Amer. Math. Soc. 35 (1972), no. 1, 171-174.
- [5] Q. H. Liu, Convergence theorems of the sequence of iterates for asymptotically demi-contractive and hemi-contractive mappings, Nonlinear Anal. TMA **26** (1996), no. 11, 1835–1842.
- [6] B. E. Rhoades, Comments on two fixed point iteration methods, J. Math. Anal. Appl. **56** (1976), 741–750.

Iterative approximations of fixed points

- [7] J. Schu, Iterative construction of fixed points of asymptotically nonexpansive mappings, J. Math. Anal. Appl. 158 (1991), 407-413.
- [8] X. Weng, Fixed point iteration for local strictly pseudo-contractive mappings, Proc. Amer. Math. Soc. 113 (1991), 727-731.
- S. S. Chang, Department of Mathematics, Sichuan University, Chengdu, Sichuan 610064, People's Republic of China
- J. Y. Park, Department of Mathematics, Pusan National University, Pusan 609-735, Korea
- Y. J. Cho, Department of Mathematics, Gyeongsang National University, Chinju 660-701, Korea